ETEE 1223 Homework 5 – Impedance, Phasor diagram, Series configuration
15-1.  Express the impedances of the figure below in both polar and rectangular forms:
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15-2.   Find the current i for the elements of the figure below.  
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15-3.   Find the voltage v for the elements of the figure below. Sketch the waveforms for v and i on the same set of axes.
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15-5.   Calculate the total impedance of the circuits below. Express your answer in polar and rectangular form, and draw the impedance diagram.  
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15-6.   Find the type (i.e. resistive or capacitive) and impedance in ohms of the series circuit elements that must be in the closed container of the figure below for the indicated currents and voltages to exist at the input terminals. (Find the simplest series circuit that will satisfy the indicated conditions)
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15-9.   Given the network below:

a. Determine ZT.


b. Find I.


c. Calculate VR and VL.


d. Find P and Fp.
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15-10.   For the circuit below:

a.   Find the total impedance ZT in polar form.

b.   Draw the impedance diagram.

c.   Find the value of C in microfarads and L in Henries

d.   Find the current I and the voltages VR, VL, and VC in phasor form.


e.   Draw the phasor diagram of the voltages E, VR, VL, and VC, and the current I.


g.   Find the average power delivered to the circuit


h.   Find the power factor of the circuit, and state whether it is leading or lagging.
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  Parts d-f cancelled.














         A and b cancelled











